n''100 N0'V1S

K19V IRY (ann O
7'n-'Na2 DXNY X1,15-16 "2 D' :n7ap VW =
(n7'oa nTavn) 002 12w 1w Twnn =
nunn 7m 1 nnip 1Y e RNn =
720nn nivw O
11-12-110-11'vmn oI’ =
ol NN O

0"11N1 '1an

oll7n NMun O
DN 22N Y TAN7 NIAITINNI 07D =
D2INI 12N 7Y DAY DN §
DY D'NNRARI NRIY NI7IVO NI 7w TN =

TI7-1T209

psuedo-code-a p'n"MIA7X 2IMd1 AT NIz O

'WTN2 DNMIAZR 7Y '"MwN K71'0P9N01R IR INT O
awnnn

YN 2V 2mwal 0RaIwN X471 0110 00D VYA O

i€5 Assign the value 5 to i

while i>0 do Begin a loop, condition is i>0
i€i-1 Decrease value of i by 1

end while End the loop
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Amortized Analysis
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Pseudo code

i<l

while (A[i]=1) do
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i€ci+1

end while
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